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1

SECTION B

Answer ALL questions. Write your answers in the spaces provided.

Karen needs to buy a new fridge.

The fridge must fit in

a space in the kitchen.

The space has width 19 inches, depth 22 inches and height 36 inches.

Karen sees these fridges for sale.

fridge

width incm depthincm height in cm

A

47.2 44.6 84.2

494 44.6 83.9

C

46.5 44.6 94.2

1inch =2.54cm

Karen will buy one of these fridges.

s

|9 X 2.5%=

36X 2.5%

[

Choose a suitable fridge for Karen to buy.
You must show your working.

The space has width 48.26cm meaning
that it cannot be fridge B as it is too wide

+8.26

The space has height 91.44cm meaning
that it cannot be fridge C as it is too high

2144

If it cannot be B or C it must be A

(3)

(Total for Question 1 is 3 marks)
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(

3 Carlais the director of a building company.

She employs builders at a site in Hull and at a site in London.
The average day rate of her builders in London is £153

In Hull the day rates she pays her builders are shown in this table

builder A B C D E F

day rate (£) 290 75 115 84 120 89

298

The builders in Hull say their average day rate is less than £153

Carla says the average day rate is the same in Hull and in London.

Show how both these statements can be true.
You must show your working.

7535 S, 120,290,298

Listing the numbers in order then crossing out from both ends until there
is one number left in the middle shows that the median, which is a type of
average, is 115. This is less than £153 so the builders in Hull could be true

2904+ 7S+ 11S+8% +120+89+2 93
> =153

Adding all of the numbers together then dividing by how many there

are shows that the mean, which is a type of average, is £153. This is
the same as the average in London so Carla's statement could be true

(4)

(Total for Question 3 is 4 marks)
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5 Tim did a survey at a large shopping centre.
He asked 400 visitors to the centre to choose the main reason for their visit.

The reasons were shops, free parking, food court and location.

-~

(@) Complete the two-way table.

shops

free
parking

food
court

location

total

male

838

%

40

21

|73

female

10

38

S6

23

227

total

198

62

96

Gy

400

(3)
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From the people taking part in the survey, one person is chosen at random to get

a prize.

23 out the of the 400 who took the

survey were females who chose location

(b) Find the probability a female who chose location gets the prize.
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Wahab sells cars.

The table shows information about the number of cars he sold each week for the
last 26 weeks.

number of cars
sold each week

frequency

1-5 2

6-10 12

11-15 9

16-20 3

Wahab estimates he sold a mean average of 10 cars per week.

s

2

Is this estimate of the mean correct?
Show why you think this.

1+5

x2 4630524 1115 g | 16420, 3

77 —10.5

Adding the highest and lowest number of cars in each category then
dividing by 2 works out the mean of each category, which is the
midpoint. Multiplying the midpoints by the frequency works out an

estimate of the total number of cars per category. Adding together all of
these works out an estimate of the total number of cars sold. Dividing
this by the 26 weeks works out an estimate of the mean cars per week

The estimated mean is 10.5, not 10

(3)

No

(Total for Question 6 is 3 marks)
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(b) Draw the plan of the cuboid on the grid below.
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8 Mina runs a football club.
She needs to order size 3, size 4 and size 5 footballs in the ratio 6:2: 1

Mina needs to order a total of 180 footballs.

-
(a) Complete the order form for Mina.

180
6+2+|

We are given the total number of footballs so we need to work
out how many parts in the ratio represent this. 6 + 2 + 1 works
out how many parts there are in total in the ratio. Dividing the
180 by this works out what 1 part represents. This gives 20

1 part is 20 so multiplying this by 6 works out what the
6 parts which represent the size 3 footballs represents

20X 6

1 part is 20 so multiplying this by 2 works out what the
2 parts which represent the size 4 footballs represents

20%x 2

20X |

1 part is 20 so multiplying this by 1 works out what the
1 part which represent the size 5 footballs represents

order form

size of football number

3 120

! +0

> 20

(3)
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Mina also needs to buy medical equipment.
She needs 23 packets of plasters.
One packet costs £4.49

A box of 5 packets costs £20.25

-
(b) Can Mina buy 23 packets of plasters for less than £100?
Show why you think this.

20.25 _
20222405

This shows that it is cheaper per packet to buy them
in boxes of 5. Dividing the £20.25 by 5 works out
the cost of each packet and this is less than £4.49

+X20.2S+3 X4+ 49=94 47

There should be as many boxes of 5 packets as possible. 4 lots of
5 go into 23 with a remainder of 3. So 4 boxes of 5 packets and 3
single packets can be bought to get exactly 23 packets. 4 x 20.25

works out the cost of the 4 boxes of 5 packets and 3 x 4.49 works
out the cost of the 3 single packets. Adding together both of
these costs works out the total cost of buying 23 packets

£I4.47 is less than £100

(3)

Yes

(Total for Question 8 is 6 marks)
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9 ABCis a triangle.
ACD is a straight line.
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(b) Use estimation to check your answer.

|80 -60-60
180 -60=120 of the angles to 1 significant figure. 120 is close to 121

Doing the same calculations as above but rounding each
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(Total for Question 9 is 3 marks)
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~~ | 10 There are roadworks on a motorway.

SRR 88 Th d limit is 50 mph
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O g A car travels a distance of 18 miles in 24 minutes.
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Show why you think this.
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The units of miles per hour means that the miles needs to
be divided by the time in hours. There are 60 minutes in an
hour so dividing the 24 by 60 converts it into hours. Dividing
the 18 miles by this works out that the speed is 45mph
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Daniel is going to use the scatter diagram to estimate the monthly payments for a car
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£446.6666.. is rounded to the nearest penny

: Y4-6.67

(Total for Question 12 is 6 marks)

TOTAL FOR SECTION B IS 48 MARKS
TOTAL FOR PAPER IS 64 MARKS

17

.CG Maths.



